Simple Solutions® Mathematics T.E. Level 4
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A Quiz #29
Lessons 113-116
An octagon has sides.
3]==5 =12

4,763 O 4,637
What type of angle is shown? 4»
Find the median of 14, 29, 86, 37 and 49.

Michael’s Deli has a special offer: 4 sandwiches for $9.72. At this
price, how much is one sandwich?

40,000 — 28,616 =?

Which digit is in the ten thousaﬁds place in 135,214?

860 +40="7

There are degrees in a right angle.

8,543 x 7="7

It is 5:30 now. What time will it be in 6 hours and 30 minutes?
26+34+17="7

The answer to a subtraction problem is the

Find the perimeter of the rectangle. 10in

6in

178




